4. Three solid spheres of a metal
whose radii are 1 cm, 6 cm, and
8 cm are melted to form an other
solid sphere. The radius of this
new sphere is

1cm, 6cm 3R 8em BT T
diT Mt F Nger |
MeT I ST & SW AT
e &1 BT gdqT A
a)10.5cm b) 9.5 cm

c)10cm ﬂ9cm




2+ Three solid metallic spheres of
diameter 6 cm, 8 cm and 10 cm

2y C— 6 are melted and recast into a
I new solid sphere. The diameter
,[ of the new solid sphere is
6cm, 8cm I 10cm B=AT
27 aT AT el F R
6y TS el FART ST 5] 39
125 j AT M HT AT 9dT HY|
—_— a) 24 cm b) 6 cm
Al § c) 8 cm ,;ﬂ//lz cm




3. A conical cup is filled with ice-cream.
(._;_- x/ T«éﬂ) The ice-cream forms a hemispherical

22 IXTx 7 = shape on its open top. The height of
‘7 ' the hemispherical part is 7 cm. The
98 =078 radius of the hemispherical part

equals the height of the cone. Then
I the volume of the ice-cream is

UF UFAHR FI AETHA &
waarr%m:cra;'ﬂﬁmtﬂ
IBHPHA Tifad & HER 7
sreafad fr FAE 7om B eafa
1 B a5 R & =8 F
A ¥ NEEAH FT I

qdr &
1078 cm3 b) 1708 cm3
c) 7108 cm? d) 7180 cm3

|CGL 2013 T-2 | 4



» A hemisphere is kept on the top of a
2y=2| + cube. Its front view Is shown in the
=7 «=1 __ « \l given figure. The total height of the
figure is 21 cm. [The ratio of curved
surface area of the hemisphere and total
\y=2r surface area of cube is 11:42] What is
the total volume (in cm3) of figure?
TFH FEeT TF U G TE@T AT g
UG HHAA FT TF AHA & e
\M’“W'Wrz(l?y;/q?ﬂ 8wl i $o 39% 21 om
277 A ¥ aw (SO awa a
“NIMQ‘“ W\ g @ 1=|1=cr0’r TSI GEhd H
Ieqard 11 42 ¥ 31?'% FT Fel
= Yy) 3TI'€I?I7-|'(cm q) F1 8?2
3‘46&33;\‘_@% 142 \“S?? a)3318.33  J3462.67

c) 3154.67 d) 3248.33

| | 5
SSC CGL T2 20 Feb 2018




5. A copper sphere of diameter 18
cm is drawn into a wire of
a— —n diameter 4 mm. Find the length
2 of wire.
18cm = g Rl R
F M  RNuer & s

;me:—,z-_C\M
Y 10

Y *94x9= %Ly' Amm SO drell dX A
& /Of T - dedier e oteT 8] 3@ AR
™ $T TFATS IdT I
W3 = V%dD 2 a)24.3 m ¥ 243 m
c) 2.43 km d) 2430 mm
dh
W g im




. 10 identical solid spherical balls
Y= O 6 pai
10¥ Oxg of radius of 3 cm are melted to

}_;( form a single sphere. In this
process_20% of solid is wasted.
What is the radius (in cm) of the
bigger sphere?
fm'scmﬁ?qja?rmwm
€-2x3 =Y i MAT I AN Raardy wF
=X 2L aer ST Sar ¥ =9
S5 wfew & 20% o e @

ST 8] 92 aer A B
(cm &) T 872

a) 24 b) 12
c)8 6

| /

2
lox W33y _ 3
¥




sxOxss= (O

1%
ISX 5x5x5x65. 3
5 7

Yy G-
2

7. 15 identical solid spherical balls of

radius 5 cm are melted to form a
single sphere. In this process, 35% of
the mass is wasted. What is the
radius (in cm) of the single sphere

that is now formed ? [give your answer
correct to two decimal places.]

5 cm BT fY 15T A 9
MATHR el Fr NgaHy Th 357
Ml I AT §1 59 9fhar &
35%, BN «€Ig g ST gl A
g8 Mo i BSAT (em A) AT
HIAT| (@evrerd & @ T TF AW
AT )

a) 34.68 cm J/10.68cm
c) 16.68cm d)12.68cm

| SSC CHSL, 26 May 2022 S3 | 8




g If the surface area of a

2 2 sphere and cube is equal
Yymny= 6o then what is the ratio of
¥ 6 3 ¥, Jo volumes of sphere and
Tz Y e 27 cube?

x / _/ [/ T Mo q Er-% & m;ag
8Thd A q
( -3 U ¥ A H I

Y ny - ,Z/‘Pf/x_.éi—é__ fraeT 2 2
oxa® ¥ _&plm a)\/_ \/— b)VZ: VT

o

| R.R.B. (T.C.), 2003 | 9



q. A cone, a cylinder and a
hemisphere stand on equal
bases and have equal
heights. The ratio of their
volumes is

felt o, dew 3R

T:' s w1 oww 3k
| . =1
-® I I 2w IS WX § ar 3%
3 > AT FT AT I
G ] Cy|
\ L 302 a) 2:3:1 b) 2:1:3

,%1:3:2 d) 1:2:3




[0 Three toys are in a shape of cylinder,

hemisphere and cone. The three toys
] have same base. (Height of each)toy is
L | 2v/2cm. What is the of the total

Zf»:, Surface areas of cylinder{ hemisphere and
cone respectively? GM umeL

‘: cfter m?#%aa;ﬁ IS qUT AF F

Q X : : = TP | i@alﬂ Chl 3-1T‘ETR'
723070 () D ae ¥ ew el A s
2V2Zem @] A9, AR qUT A4F &
Fe TSI BABe BN HAW eI
Fa7 ¥7
4:3:V2+1 b)4:3:2+2

c)4:3:V2 d) 2:1: (1 +V2)

| | 11



/|- The heights of a cone, cylinder
and hemisphere are equal. If

]
é E é@ their radii areintheratio2 : 3:
: 1, then the ratio of their
3

=2 | vqumesns
freft o, So 3R s
h=1 ! | N FwEw AT & IR

3Ahr PeAA F AU
| 2:3:1 ¥ @ 3% IrIA P

M a 2 JHeTaTel heret g
S a)2:9: 2 b)4:9: 1
. 4 : 27 : 2 d2:3:1
L’\né’ﬂ:q 4 )

|CGL 2011T-2 | Lz



2 -2y
VOsz %T)( 5
2

Y R
TSR = Coplint. 16et) +@ing
L ICETS )fﬂ @)(e-7)

13






)2+ The internal and external radii of

TSA= CSA(IV-#&‘O-)‘ Zl'ﬁ?a a hollow hemispherical vessel

Y= 6 are 6 cm and 7 cm respectively.

e What is the total surface area (in
/ gs €=7 cm?)ofthe vessel?
= 27 (36+49) + 71 13x | w wEd aee o R
Faisw ik SEd B
= 1827 FAM: 6 3 7cm §| 9H FT
Fd Y¥ST (T FAT A)
e &2
#183n b) 1897
@ <) 1771 d) 174n




929 /3: The internal and external radii of

2,x3 a hollow hemispherical bowl are
2 1L (MUD*’S'IQ.)"' TI Y 20 cm and 23 cm, respectively.
What is the total surface area (in
cm?) of the bowl!?

= 1S 8 el @Eer cHMeNT FeER
129 # AeaRF AT T B
(987 7 FAA: 20cm IR 23cm
FER HT Fod TSOT &
(cm? &) AT
a) 2082 b) 1858
1987 d) 2194

|SSC MTS, 11 Oct 2021, Si 6



.5 [ The internal diameter of a_hollow
hemispherical vessel is 24 cm. It is
27 (,l{l,j-;—é'%).l.-nhq V=12 made of a steel sheet which is
Z 2R R=|2-5 0.5 cm thick. What is the total

) Bow!. surface area (in cm?) of the vessel?

25 U @Ed WMo 9 dded AT

288 2 HdRw == 24cm gl 9§ T

3 0.5cm HITIS drell SEATT T TSR

|2.50 (efe) ¥ @ gam ¥ adw F T

12.25 Weﬂsr(av‘rﬁmﬁ#)ﬁmm%?
—G12.75 #F612.75m  b)468.75™
) 600.2 T d) 600.5 1

|CGL 2018 T-2 | 17



3z . A metallic hemisphere bowl is
Z a 7'5____|.(4q_,p' A/ / made up of steel . The total steel
_ used in making the bowl is
T= 6 12 3427 cm3. The bowl can hold
2 245" 144w cm3® water. What is the
/g}fﬁ’-' 3Y2 n+ IM‘QD:W/?/ thickness (in cm) of bowl and the
2{ curved surface area of outer side?
K: q Myn m -\q- gna- T ?Wmmﬁ
S 2 SATIT I |
g # F 342mcm’ FEITA HT
2 Txg| yaer fRar wEr §] @eRr A
:%4'%” a:c,::aém mengﬁ o
AT dde
$T q% TSI TG FAT §?
96,162 %3,162n
X)6,81m d381n

18
SSCCGL T2 9 Mar 2018




00- @

I+ 216 = 729 - g

) Ygz T4-2)7=912—
Y=g

/6. The radii of two solid iron

spheres are 1cm and
6 cm respectively. A hollow
sphere is made by melting the
two spheres. If the external
radius of the hollow sphere is
9 cm, then its thickness (in
cm)is

ar 3 Mar fr BT FAA
1cm 3R 6cm @ 3T &t
el A Naar | wH
GrEer Ml 9= AT g
R @Ee e FT SRS
BT 9cm %’, ar Sﬂﬁ
AeT$ gar )|

a)2 b) 1.5

c) 0.5 1

|CGL 2015T-2 | 19




|?. A spherical metallic shell with

6cm external radius weighs
84 6688 g, what is the thickness of
1S2 the shell if the density of metal

20Y4%- is,10.5 g per cm3?
@16—{5}:,66*35‘)(1 6'&?‘39%%% & @I TH
A T

i

MR eifcasd  3MaI0T &l
GSOATT 6688 A Bl IR

6Y ¢Td &T Udcd 10.5 A gfa
S y=y em® ¥ & smaRer i A
FT 87
/ﬁcm b) 3cm
c)Z%cm d4cm

| SSCCGL T2, 15 Nov 202051 | 20



/8- Initially the diameter of a balloon is 28
cm. It can explode when the diameter

~
Y= L= WMxrS =25
1 &

5. e it s .
becomes > times of the initial diameter. Air
is blown inside the balloon at 156 cm3/

fn b'f- sec. it is known that the shape of balloon
always remains spherical. In how many
J””&d seconds the balloon will explode?

O A TFH AR F AW 28 cm gl
5

%S WoR s O YRIRE oA T o
Amg’raﬁma‘rirmaﬁvmgﬁé
el 156 cm3/sec & Ifd & gar
w0 S W@ P I e A AR
g MATPR A I@ar § ar fraa
JF3 A TEEART BT FAYI?

A) 1078 b) 1368 s
| 'nx\\\ﬁ*\\_,c) 1087 s d) none of these
SR g

| | 21



Sphere similarity:

1PE:R) @a:
ap(sp) o
3D(V0l-) @ b 3)C Y:1R = 2.5
’A —4°.2S
Vol —=21.\25

| | 22



(- The ratio of area of two spheres is
25:36. Then what is the ratio of its
volume?
ar el F &Eha F AT
) 25:36 @] FI& IMAAA &I
v 5. 6 IeTITe Tt |
a)125:261 b)152:216
2 jac ‘A6 S125:216 d)155:275




20. If the ratio of volume of two
spheres is 343:125. What is
the ratio of area?

2 ' IR & Ml & IAdT FI

Y~ 343, )2S I 343:125 § af 3aF
] ARl T TITT 4T grem?

T, A5 a)49:125  _Jf49:25

A c) 48:25 d) 36:49

¥ Wg -, as




ol 64 9,6
mYy M &
Z 3

Vo jume

of  two
.hemispherical bowls, are 6.4
litres and 21.6 litres

respectively. Then the ratio of
their internal curved surface
areas will be

al 3reeNeY & 3IAdT HAU
6.4 +fex 33X 21.6 <X @
3d% STl g% &bl &I
3TeTITT FAT B2

a)\/_ V3 b)16: 31
49 d2: 3

|CGL 2012 T-2 | 25



22- A spherical lead ball of

M radius 10 cm is melted and
O small lead balls of radius 5
O O mm_are made. The total
o0 ‘number of small lead balls i is
: q lmm . " 0em T areh T HT
LA §/ . Jo N MA F RATer W
¥3 s 8 2 5AH fsar arelt  fhdet
e L | . €000 Gy ;’Iﬁ Mg i
ATt 87
Y .
IR 38000 b) 400
¥ v \as 207:3 ¢) 800 d) 125
Q:VL 6u|

| | 26



23-Find the no. of lead balls,
each 1 cm in diameter that
can be made from sphere of
|2 % diameter of 12cm.

¥ 12cm SO dlet TH e

2 d 1cm T arelr fhaet

1 TZER aMferar a@mlt o T §2
a) 144 511728
c) 216 d) 512




24. A sphere of radius 7cm is
melted and recast into
small spheres of radius

% ;}_ _ 7 2cm each. How many such
Lf d J_;U” > ;2— spheres can be made?
7 @4 B & e o
23 ® Noaer 2 @#
ol. frgm gpom - 2):,_ Bsar & o M s
P23 ™ ¥ W YFR frae
A

2 M T T THhd 87
Q a)40  j5)42

Y a4

Vel, 8% U3 c) 41 d) 43
By 72
U 2
kS




26. A solid metallic sphere of radius

4 cm is melted and recast into

O spheres of 2 cm each. what is the

ratio of the surface area of the

's 2
2 )
Y

original sphere to the sum of surface
: areas of the spheres, so formed?

4cm BT 99 9T F TH N

| SSC CGL T-2 2020 | 29



X% A5
¥ 1+ 5
SsA | .28
Vol | V12s

SAQ XS

- —

2%0. |xis S
S

26- A solid metallic sphere of radius

15 cm melted and recast into
spherical balls of radius
3 cm each. What is the ratio of
the surface area of the original
and the sum of the surface area
of the balls ?

15 ¥ Bsar gl v 3
dig A dig AN Rua
T+ 3 A B areh &6
gl St @1 aafde dig
¥ ysoha AR welt ek F
qsaHel I IeTUT T 872

A1:5 b) 1: 10

c) 5:27 d) 3:40

| SSCCGL T2, 15 Nov 202051 | 30



Y

A
\

B
2.

(@D)sA e wee

Vil

| ¢

<

2% Let A and B be two solid spheres
such that the surface area of B is
300% higher than the surface area
of A. The volume of A is found to be
k% lower than the volume of B. The
value of k must be

A 3T B & 3 M W IFR ¢
& B &1 AEl &% A F &TPe
T 300% 3OF 8| A FT 3T B
F AT F k% FH 9T ST
8| kT AT FIAT F?

a) 90.5 187.5

c) 85.5 d) 92.5

|CGL 2012 T-2 | 31



28.The radius of a spherical
balloon is inflated from 3.5 cm

5 7 to 4.9 cm by pushing air into
N 3 Y5 it. What is the percentage
increase in the volume of the
2)8 original balloon?
— TF MAPR Tear H gal
vl 1ag 343 WW%’“&TE#B 5cm

¥ 4.9 cm dF TIET AT ¢l

\ A AR & HAAA A gl

74,y AR epse Al SfverT qafe el 82
5 a)73.6%  b)173.6%
X2 c)74.4%  A)174.4%

SSC CGL T-2 2020 32
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